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RE.5.1{ 1 |#ibssskls (MEHE) @AM 4,000 100] 4,000 0 0 0 0 0 o| 4,000 0 0 of
RE.5.1| 2 |mmimy—= (uwrBENE o) $I7E) 61, 380 ,"50| 30,690] 30,690 0 0 0 0 0 0 0 0 0
RG.5.8] 3 [#vu > apeurtsy 4,802 50| 2,401] 2. 401 0 0 0 0 0 0 0 of. 0
RE.5.8| 4 |aE—@y—2B G e—TTr4+LRKK EITE) 17,930 5o| 8, 965 0 0 0 0 0 0 of o| 8965 0
RE.5.9| 5 (RZMMEIMAALREGAD 200, 000 5o| 100, 000 0 0 0 0 0 o 0 0 o] 100,000
RG.5.16| 6 |#vy 4 (IDENITSY) 5,429 5o| 2,714] 2,714 0 0 o} of 0 0 0 0 0
RS.5.19| 7 |MhE ot (RESAZZL I00FRRRARA 408R=) 125,508 5o| 62, 754 0 0 0 0 0 0 ol 62,754 0 0
R5.5.25| 8 |wimMEEN (REHE) GHH) 4,100 100! 4,100 0 0 0 0 0 o| 4100 0 0 0
RE.5.25| 9 |miMmEEA REHED GAH) 4. 000] 100] 4, 000 0 0 0 0 0 o| 4, 000 0 0 0
RS.5.29| 10 |#vUvit(az=EM | 5.053] ‘50| 2526 2.5 0 0 0 0 0 0 0 0 0
R5.5.300 11 [BEROTazazr—sasxam) 7.871| 50| 3,935 0 0 0 0 0 0 0 o| 3.935 0
rs.5.31] 12 |@smy ~ = cimoxem o) 538D 61,380 50| 30.690] 30,690 0 0 0 0 0 0 0 0 0
| ol 0 0 0 0 0 0 0 0 0 0
ol 0 0 0 0 0 0 o} 0 0 0
0 0 0 0 0 0| 0 0 o 0 0
0 0 0 0 0 0 0 .0 0 0 ol
0 0 0 0 0 0 0 0 0 0 o
0 0 0 0 0 0 0 0 0 0 |
e 501, 453 256, 775] 69, 021 0 0 0 of o] 2, 100] 62, 754] 12.900] 100, 000]
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RE.6.2| 1 |H 1) 2 48{ENEOS) 4, 688 50| 2,344 2,344 0 0 0 0 0 ¢ 0
R5.6.5| 2 joE—#Y—AB (L e—TF2714F»AKK $E38E) 17, 930 50' 8, 965 0 0 0 0 0 0 8, 965 0
RG5.6.8] 3 [HwY) =t (ENEOS) 5.857| 50| 2.928 2,928 0 0 0 0 0 0 0
R5.6.12| 4 |EtHEEwBREAFRGES) 200,0001 501 100, 000 0 0 0 0 0 0 0} 100, 000
RS.6.201 5§ [#vY 1 (ENEQS) b, 647 501 2,823 2,823 0 0 0 0 0 0 0
R5.6.22| 6 |EER(WTaSazbr—avZ () 8.903| 50 4,451 0 0 0 0 0 0| 4,451 0
HEREFREBY (FEOE 122, 100M+BFAS5591, 196K =
R5.6.22 7 [porrs 123, 206 50| 61. 648 0 0 0 0 of 61,648 0 0
aAr—#AYVE—EBFE (R ve—H T T4
R5.6.23| 8 |3 oa sl e p et Aaea 2t 736r) 25,746 50| 12,873 0 0 0 0 0 0| 12,873 0
R5.6.25| O |fbisdd (GRFEFA) GAS) 4,100 100| 4,100 0 0 0 ¢ 4. 100 0 0 0
R5.6.25| 10 |#mBAMkEEE (HEHE) GRS 4, 000 100I 4,000 0 0 0 0 4,000 0 0 0
SENRER (R S2E60, 448 (EREHIEI6, 048M+EE ]
RS.6.27| 11 |2 A s, 36,048| 50| 18,024 0 0 0 0 0 0 0| - 18,024
R5.6.28| 12 [Hv U 248 (ENEOS) 7.012] 50 3, 506 3. 506 0 0 0 0 0 ] 0
R5.6.30| 13 |B®iEY—2 8 (HVyAEEE () $30H) 61,3801 50] 30,690] 30,690 0 _ 0 0 0 0 0 OI
OI 0 0 0 0 0 0 0 0|
OI 0 0 0 0 0 0 0 OI
0| 0 0 o 0 0 0 0 OI
OF 0 0 0 0 0 0 0 0
0 0 0 0 0 V] 1] 0 0
(34 13 504, 607 256, 3621 42,291 0 4ll 0 8,100] 61,648| 26,289] 118,024
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RE. 7.4 1 |Hw1) 4% (ENECS) ’ 6,078l 50 3,039 3,039 0 0 0 0 0 0 0 0 0
RE. 7.8 2 |E¥sE@hidEmB AR GRS _ 200, 000( 501 100, 000 0 0 0 0 0 0 0 0 0| 100, 600
R5.7.10| 3 [H w1 1% (ENEOSY 5, 448] 50 2,724 2,724 0 0 0 ¢ 0 0 0 0 0
' aP—#Y—IH(r—TIFLFRKK EE )
R5.7.12| 4 |35 MU AHEx—To 17,080 50| 8,065 0 0 0 0 0 0 0 0| 8065 0
I_R5. 7.14| 5 |EmSv—F s (REEIR~6H5) 8,400t 100 8, 400 0 0 0 0 ¢ 0 8,400 0 0 0
|R5. 7.16] 6 [HY 215 (Enejet) 5,853 &0 2,926 2. 926 0 0 0 0 0 0 0 - 0 .0
[fs.7.20| 7 [KEFRES RATAH122 10RBRUSAR. SIF= 195 617 50l 61,808 0 0 0 0 0 0 ol 61,808 0 0
aE—h L E—RFH (Y vv—F T 0T
R5.7.24] 8 ) (654 _ 2,184] 50 1, 062 0 0 0 0 0 0 0 0 1,092 0
R5.7.25] 9 |AH w12 4% (ENEOS) ] 6,601 50| 3,200 3, 300 0 0 0 0 0 0 0 0 0
R5.7.25| 10 |fiamssy (wP&HED) TAS) 4,500| 100 4, 500 0 0 0 0 0 0 4,500 0 ¢ ] |
R5.7.25| 11 |svhawssss GREEmAE) (AM) 4,100 100 7 4,100 0 0 0 0 ] 0 4,100 0 0 OI
RE.7.30] 12 [HVUYR{(QARERGHA) _ b, 816 50J 2,908 2,908 0 0 0 . 0 0 ol - 0 0 0|
R5.7.31) 13 [BERNTTaZS a4 —3 3 X)) 7,959 50| 3,979 0 0 0 0 0 0 0 0 3,979 0|
R5.7.31| 14 |A®EY -2 (3"};}97\5 y.lﬁ (#%) $40m) 61, 380 50' 30,6901 30, 690 V] 0 0 0 0 0 0 0 0|
] | 0 ] 0 0 0 1] 0! 0 0 0|
0| 0 0 0 0 0 0l 0 0 0 UI
ol 0 0 0 0 0 0 of o o 0
0’ 0 0 0 0 0 t] 0 0 0 0
TR 459, 866 228, 4311 45, 587 0 0 0 0 0l 17,000| 61,808| 14,036] 100,000




(AR 4)

7
= H B W

(BHEX#¥MAM]

(EM5EBA S [ & # —]

(B : )

IvE E HAE (FELOMAR)
#A8 |%wm REBURE - @8 HHish ;*’g“’;

&5 (%) mEWER | wER stag | meme |FOENEE porok | kumar | sser | osen ABR
RE.8.3[ 1 |aEP—#Y—AH (L r—TF 774+ AKK $E40E ) 17,930 5o| 8, 965 0 0 i} 0 0 0 8, 965 Uf
RE.B.6| 2 |HYIULUREOREFH) 4,609 5o| 2,304 2,304 0 0 0 0 0 0 0
R6.8.9] 3 | v 242 (ENEOS) 6. 330 sol 3,169 3,169 ] ] 0 0 0 0 0
RE.B.10| 4 |EFEEMEBIBASE(OAS) 200.000] s0] 100000} 0 () 0 0 0 0 o 100,000
R5.8.20] 5 | 1) 4t (ENEOS) 4,919 50 2, 459 2, 459 0 0 0 0 0 0 0
R5.8.22| 6 ﬁ?geﬁﬂ{?ﬁ (RABAS122 100P+BIKTAL, 888F3=| )5 ggpl 50| 63,404 0 0 0 0 of 6349 0 9

aAr—@h oA —FFH(Fr/ V=T Y

RS.8.8 T [y TR 4 1,27 50' 635 0 0 0 0 0 0 635 ol
R5.8.23) 8 |BEBNTTaS2z=4—i 32X (#))EBEH) 7,87 50| 3,935 0 0 0 0 0 0 3,035 0|
R5.8.25) ¢ |HRAEEESE (WMELHMD (BB 4,500 wol 4, 500] 0 0 0 0 4,500 0 0 oI
RE.8.25] 10 |rpREgEsdd (GEAERD) (8RS 4,100 IOUl 4,100 0 0 0 0 4,100 0 0 oI
RG.8.26] 11 {H Y {ft(apollo station) 4,715 5o| 2,357 2,357 0 0 0 0 0 0 ol
RS.8.31| 12 |EENEY—R% VA8 B ) $41E) 61,380 50 30, agnl 30, 690 0 0 0 0 0 0 ol
ol 0 0 0 0 0 0 0 o’
ol 0 0 0 0 0 0 0 0
ol 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0
0 0 0 o 0 0 0 0 of
oi 0 0 0 0 0 0 0 ol
BAt 444,627 226, sos| 40, 979 0 0 0 8,600 63, 484 13,535| 100, ooo|
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*5 ) BEFER | FER amm | maen |FOREEE| gpnne | wema | swmn | eme ABR
R5. 8.4 1 (DE—#)—RB(Lv—TFI2 7+ RKK $41EH ) 17,930 50| 8, 965 0 0 0 0 0 0 0 0 8, 965 Df
RE.8.5| 2 |#F 1) 4t (ENFOS) 6, 421 5o| 3,210 3,210 0 0 0 0 0 0 0 0 0
RE.G.11 3 |BrEEENEBIRE AL BAS) 200, 000 5o| 100, 000} 0 0 0 0 0 0 ] 0 o] 100,000
R5.0.14| 4 |Hv U 4 (ENEDS) 7.440[ 60 3,720 3,720 0 0 0 0 0 0 0 0 0
RE.0.21| 5 [HW1) vt (apollo station) 5912 50 2,956 2, 956 0 0 0 0 0 0 0 0 0
wo 91| & EEMESN(ZAIFS122, 100A+ESL8AS6, 590 = 128, 690 50 64, 345 0 0 0 0 0 0 0 54, 345 0 0
128, 690) |
RE.9.25 7 |HWiMMEERM (RFHED QA% 4,500 100 4,500 0 0 0 0 0 0 4,500 0 0 o]
RS.9.25| 8 |#FMREEEM (BEEHE) A 4100 100 4100 0 0 ¢ 0 0 0 4,100 0 0 1
TV E—BFR(F v/ Y= T4 VY | |

9. 4,385] 50 2,192 0 0 0 0 0 0 0 2,19

RE.0.251 8 [Ty ppen) 0 192 0
o 0 0 0 0 0 0 0 0 0 o
ul 0 0 0 0 0 0 0 0 0 ol
ol 0 0 0 0 0 0 0 0 0 ol
oI 0 0 0 0 0 0 0 0 0 o|
ol 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0 ol
0 0 0 0 0 0 0 0 o 0 ol
WA 379,378 193, 988 4,886 0 0 ] 0 0 8, 600 64, 345 11,157| 100, 600
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#p8 |wmm ROERLHE - R s g“g"g

i (96 mEwRR | FuR sun | canex [EVREEE) poeow | weman | ssmr | wse A
R5.10.2| 1 |# U % (ENEDS) 5, 1261 50 2,563 2,563 0 ¢ 0 ] 0 0 0 0 0
R5.10.2| 2 |E®EU—ZH FIAERIE (5 F42E) 61,3801 501 30,690F 30,690 0 0 0 0 0 0 ] ¢ —OI
RE. 10,3 3 |[ar—iy—A¥ (L r—TF 770+ AKK 420 ) 17,9306 50 8, 965 0 0 0 0 0 0 0 0 8. 965 OI
IR5.10.3] 4 |@EBRNITaza=H r—2 3o X)) GBS 7,81 50 3,935 0 - 0 0 0 0 0 0 0 3,93 —Ol
R5.10.10] b |B#sER#HENBAGEOAR) 200,000 50} 100,000 0 0 0 0 0 0 0 0 0| 100, 000|
R5.10.16| 6 [|EETey—+ LB RETIBE~IBS) 8, 400 100 8, 400 0 0 ¢ 0 0 0 8. 400 0 0 0|
RE.10.17[ 7 [#H v U 4% (ENEOS) 5,929 &0 2,964 2,964 0 V] 0 0 0 0 0 0 OF
R5.10.18| 8 *ﬁ?gﬁﬂﬁ@ﬁm%m’ 100F+BafIAI6, 2617 | 199 3511 50| 64,180 0 0 0 0 0 0 of 64,180 0 0

oA —RTFH (R - TF VY

R5.10.23] 9 ) OB ) 1,100] 50 560 0 0 0 0 0 0 0] 0 560 0
R5.10.25| 10 |#wrAMEsEsd (BAEHER) (10A5) 4,500] 1001 4,500 0 0 0 0 0 0 4, 500 0 0 0
R5.10.25| 11 |dwRAMEEEd (GRSEHME) (10A5) 4,100 'IOOI 4,100 0 0 0 0 0 0 4,100 0 0 0
R5.10.27( 12 |#Hv VU 4 (apollo station) b, 8bh 50| 2,927 2,827 0 0 0 0 0 0 0 0 0
R5.10.30f 13 |SBEZHNITaoSaz=y—3 a3 ~Z ) (1084 8, 065 50| 4,032 0 0 0 0 0 0 0 0 4,032 0
R5.10.31| 14 |A®EY—AM HV 2B EE () F43E) 61, 380 50' 30, 690F 30,680 0 0 0 0 0 0 0 0 0
oi 0 0 0 0 0 0 0 0 0 0
0| 0 0 0 0 ] 0 0 0 0 ] |
0’ 0 0 0 0 0 0 0 0 0 OI
0 0 0 0 0 0 1] 0 0 0 0|
10A L+ 519, 997 268, 496] 69, 834 0 0 0 0 0| 17,0001 64,180 17, 482 100, 000'
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L (%) BEFRR | GER sl | mamen [FRRERE gunne | kemar [ spar | osmn AR
R5.11.6] 1 |aF—#U—2AH (L v—F 771+ AKK B43E ) 17.930(  s0] 8. 965 0 0 0 0 0 0 8.965 0
RE.11.9] 2 |H U 4% (ENEOS) 6, 297 50 3,148 3,148 0 0 0 0 0 0 0
R5.11.10] 3 |BeESEEMBNEAAGRE (10Am) 200, 000 50i 100, aoo] 0 0 0 0 0 ] o| 100,000
R5.11. 14} 4 |#Hw Y ot (apollo station) 5, 907 sol 2,953 2,953 0 0 0 0 0 0 0
R5. 11.14] 5 |BHEALEAR (D E—BHEL) 1,914 50 957 0 0 0 0 0 0 957 )
g 01| ¢ [FEEFRENREIIASI22 100F+BRAI0A R4 9608 g 0ol 50] 63530 0 0 0 0 o| 6350 0 0
=127, 060}
R5.11.22] 7 [HV Ui (3R EBAARFER 6. 829 soI 3 414I 3,414 0 0 0 0 0 0 |
R5.11.25| 8 |EHAKMEAR RN 1,380 50| 690 o 0 0 0 0 0 630 0
RS.11.25| 9 |&BARKERH (MAFHMED (1A45) 4,500 woF 4, sool 0 0 0 0 4,500 0 0 0
RS.11.25| 10 |#FmMEEEAYY (ERZEHAD (1AM 4,100 100 4.1oo| 0 0 0 0 4,100 0 0 0
R5.11.30} 11 JEEhE ) —Z ¥ (s AE EE () F44E0) 61,300 50 30, sgul 30, 690 0 ¢ 0 0 0 0 0
o| 0 0 0 0 0 0 0 0
ol 0 0 0 0 0 0 0 0
ol 0 0 0 0 0 0 0 0
ol 0 0 0 0 0 0 0 ]
oI 0 0 0 0 0 0 0 ol
oI 0 0 0 0 0 0 0 o|
0 0 0 o 0 0 0 0 0
1MAY 437, 297 222,947 40, 206 0 0 [ 8. 600 63, 530 10, 612 100, 000'
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%AE |#mE RIEBLNE - 8 T4 R
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(%) mEFER | wER S | ERLBR mp | AEHERR | REEAR | BEER BER AfER
R5.12.1) 1 1AV ) 4% (ENEOS) 7,645 50 3, 822 3,822 0 0 0 ¢ 0 0 0
R5.12.4] 2 |BEFENTaZIa=-4sr—23>XEENUIRD 7,961 50 3, 980, 0 0 0 0 0 0 3,880 )
R5.12.12| 3 [|BaEGEEMERIREE AGE (1AL 200, 000 500 100, 000 0 0 0 0 0 0 6| 100,000
R5.12. 14| 4 |HW U ft(apollo station) 6 126] 50 3, 063 3, 063 0 0 0 0 0 0 0

AE—#y -2 (v —F o1+ LR K E44E
R5.12.14| 5 18, 330F B4+ SB400 T (B2 53 = 17, 93079) 17,930 50 8, 065! 0 0 o 0 0 0 B, 965 0
R5.12.18] 6 |# WU 2 {2 (JA 88} 5075 50 2,537 2,537 ¢ 0 o 0 0 0 0
R5.12.22] 7 iﬁgﬁﬁﬁﬂ;ﬂltgglzﬁmzz, 100F+BRALTT A5, 081K 126, 181 50) 63, 090 0 ¢ 0 ¢ 0 63, 090 0 0
R5.12.25] 8 [H V1) it (Enejet) 6,020 50 3,010 3,010 0 0 0 0 0 0 0
RE.12.25] 9 |WBIERWNTTazaz=4s—3 3 X0 (124 1.628] 50 3,963 0 0 0 0 0 0 3,963 0
-V E—RTFH (e V=TT VY

RG.12.25| 10 ) 105532, 206E3+11 H 431, 100/5 =3, 39675 3.3096] 50 1,698 0 0 0 0 0 0 1,698 0
R5.12.26) 11 |&TEAREEEH (WEFHE) (12A%) 4,500 100 4,500 ¢ 0 0 0 4, 500 0 0 ]
RS.12.25| 12 |#FRAREERSY (BEsT¥nf) (12A %) 4,100 100 4,100 ¢ 0 0 0 4,100 0 0 ¢
0 0 0 0 0 0 0 ¢ 0
0 0 0 ! 0 0 0 ¢ 0
0 0 ¢ 0 o 0 0 0 0
0 0 ¢ 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0
) 0 0 0 0 0 0 0 0
12A3 386, 860 202, 728 12,432 0 0 0 8, 600 63,090 18,606) 100, 000
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R EHE HEWE (xUDOMR)
£AE | ®mE REMLNE - iR HHE BEzuR

it (%) prae | oar | smx | cemswe |PPEREE geop [ adman [ wsmm | oser | asm
R6.1.4] 1 |EENE U —R GV BB () $45E) 61.380] 50 30.690] 30,690 0 0 0 0 0 0 0 0 0
R6.1.4| 2 |aEP—BIV—AHEv—TFT7A+ KK B450 ) 17,030 50 8,965 0 0 0 0 0 0 0 0 8, 965 0
R6.1.10] 3 |BIETRHMEBAAGEG2AS) 200,000 50] 100,000 0 0 0 0 0 0 0 0 oF 100,000

ad—#Ar L a—BTFH (Y o= TaLT
RE.12 4 |Gasy (2R 4) 14,665 50 7,332 0 0 0 0 0 0 0 0 7,332 i
ge.1.24| 5 [FEAREHERIAM2 10FBRRIZANGBTIM | 50 gp] 5ol 64,488 0 0 0 0 0 0 o| 64486 0 0
=128, 873M) I

Re.1.25| 6 |&EEESRY (MEHE (0AD 4,500 mol 4,500 0 0 0 0 ] 0 4,500 0 0 )
Re.1.25] 7 |WEAMEERH (GEFEEHAED) (RS 4,100 '1oo| 4,100] ) 0 0 0 0 0 4,100 0 0 0
R6.1.31| 8 |B®HH ) —i FVyABENE (BF) HE46[E]) 61, 380 50F 30, sgol 30. 660 0 0 0 0 0 0 0 0 0
Re. 1.3 9 |BIEENTTazaz=sF—LarXENAD 7.926] 69 3, gssl 0 0 0 0 0 0 0 0 3,063 ol
nl 0 0 0 0 0 0 0 0 0 oI
0 0 0 0 0 0 0 0 0 0 ol
ul 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0 0
o 0 0 0 0 0 0 0 0 0 0
ol 0 0 0 0 0 0 0 0 0 0
1A% 500, 854 254, 7zﬁ| 61,380 0 0 0 0 0 8, 600 64, 486 20,260 100, 000}
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(Bfz : F)
il EHE tARE (KON
#AR |%BE REMHEAE - ik e DU
&3 (%) EETER | FER s | momer |FAEAFE) pueow | aumar | seEr | sae AR
R6.1.8] 1 {HY 1 4k (apollo station) 5.454] 50 2,727 2,721 0 0 0 0 0 0 0 0 0
RE.2.1 2 |EHARBAR(ZSI—2> PCAYoR) 4,020 50 2, 460 0 0 0 0 0 0 0 0 2,460 0
RE.2.1 3 |EBHARBARK(CI—2> PCA 22 1,580 50 790 0 0 0 0 0 0 0 0 790 0
RE.2.2] 4 |H Y 4% (ENEOS) 7,138 5oi 3,569 3,560 0 0 0 0 0 0 0 0 0
RE.27] 5 |BHEAIBAFKFTD sFFatV kTP 1,237 50I 618 0 0 0 0 0 ¢ 0 0 618 0
R6.2.7) 6 [HYUL@QXERHE 5, 285 sol 2,642 2, 642 0 0 0 0 0 0 0 0 0
R6.2.12| 7 |#Y U o1t (ENEOS) 3,026 50 1,963 1,963 0 0 0 0 0 i 0 0 0
R6.2.13| 8 |BIERWBBAAFREOAD 200,000 s50] 100 000 0 0 0 0 0 0 0 0 o| 100,000
R6.2.18] 9 | 1) L4t (ENEDS) 5, 897 50 2, 048} 2,048 0 0 0 0 0 0 0 0 0
R6.2.25] 10 (¥R (HEHE) 2R 4,500 100 4,500 0 0 0 0 ¢ 0 4, 500 0 0 G
R6.2.25| 11 |frRSEEER (BRSSEIR) (A4 4,100 100 4,100 ] 0 0 0 0 0 4,100 0 0 0
aAE—#A YR —RFH Y/ T Y
Re.2.26] 12 @) (1A% 4,752 sol 2, 376] 0 0 0 i 0 0 0 0 2,376 !
R6.2.29] 13 |BEIE') —R¥ FIviABENE (bk) B4TE) 61, 380 sol 30, 690 30, 630 0 0 0 0 0 0 0 0 )
Re.2.20] 14 |EHTIEEGH(RE2A53122, 100M+ BRI ASS, 192 = 130, 892 5o| 65, 446] 0 0 0 0 0 0 0 65, 446 0 0
130, 892M)
0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0 0
0 0 i 0 0 0 .0 0 0 0 0
0 0 ] 0 0 0 0 0 0 0 0
ZAM 441,062 204,829 44,53 0 0 0 0 0 8. 600 65, 446 6,244 100,000
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el (3%) mEman | whr | sme | menes |EORESE) pupp | gaman | smmr | osmr | asse

Re.2.5 1t [AE—HU—B(Lr—TT74FURKK $B46m ) 17,930 sol 8, 965 0 0 0 0 0 0 0 0 8, 065 0
R6.3.2| 2 |71 2% (ENEDS) 5,907 50I 2,953 2,983 0 0 0 0 0 0 0 i} 0
RE.3.4| & |oE—#—AB(Ly—TI2F4F L RKK E4E ) 17.930 50| 8, 965 0 0 0 0 0 0 0 0 8, 965 0
RE.311) 4 (EFEBEEIEERAGR (2R 200. 000 50| 100, 000, 0 0 0 0 0 0 0 0 o 100,000
R6.3.13{ 5 A 1 ot (apollo station) 5, 651 sol 2,825 2,825 0 0 0 0 0 0 0 ] 0
RE.8.18] 6 |[BEBMNTIZ2z=HF—4aX#H)) CAD) 7,926 sol 3,063 0 0 0 0 0 0 0 0 3,963 0
R6.3.20| 7 |HW U 1{t(ENEDS) 4,196 5o| 2,008 2,008 0 0 0 0 0 0 0 0 0
RG.3.25| 8 |HGAREEEE (HFEHE) GHM 4,500 1oo| 4, sool 0 0 0 0 0 0 4,500 0 0 0
R6.3.25] 9o |WGAREEEM (BEEEAMD) GAS 4, 100 100| 4, 1oo| 0 0 0 0 0 0 4,100 0 0 0
Re.3.27| 10 ﬁfﬁzﬁﬁﬂ (RHEIA5122 100FBAR2ANG, 082A= 5 ) 5o| 65, 576] 0 0 0 0 0 0 0| 6557 0 0
R6.3.31 11 [H 1) 4% (ENEOS) B, 144 50' 3,072 3,072 0 0 0 0 0 0 0 0 0
RE.3.311 12 EBEHENTIZa2=45—2a3 X)) GAD) 1.942) 50 3.9 0 0 0 0 0 0 0 0 3.9 0
ol 0 0 0 0 0 0 0 0 0 0
ol 0 0 0 0 0 0 0 0 0 0
ol 0 0 0 0 0 0 0 0 0 0
ul 0 0 0 0 0 0 0 0 0 0
ol 0 0 0 0 0 0 0 0 0 0
384 413,378 210.088) 10,948 0 0 0 0 0 8,600 65576  25.864] 100,000
Rt 4,999,314 2,566,868] 447,102 0 0 0 0 0 114,400 700,357  176,985| 1.118,024




